
sample 1 sample 2
1 12.1 12.09 mean 1 18.4 12.07 mean
2 11.5 0.96 std dev 2 18.3 6.82
3 11.2 0.25 std error 3 5.8 1.76 std error
4 10.5 2.14 t_.975 4 6.7 2.14 t_.975
5 13.4 11.56 t_a 5 18.7 8.29 t_a
6 11.6 12.62 t_b 6 6.0 15.85 t_b
7 13.4 12 target value 7 17.5 12 target value
8 12.2 ‐0.350 t 8 6.1 ‐0.042 t
9 12.0 37% 9 18.2 48%
10 13.5 63% 10 6.0 52%
11 10.6 11 6.8
12 11.9 12 17.5
13 11.8 13 24.0
14 13.1 14 5.3
15 12.5 15 5.9

The true mean of the population is between t_a and t_b with 95% confidence.
What is the probability that the true mean is less than 12oz?
What is the probability that the true mean is greater than 12oz?
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